KONŠTRUKCIA TROJUHOLNÍKA              18.3.2008
1)       Zápis:                            Náčrt:                                Konštrukcia:
      ∆ ABC

      c = 6,5 cm

      a = 7 cm

      β = 50°

Postup konštrukcie: 
1) |AB| = 6,5 cm

2) k, k (B, 7 cm)

3)     ABX, |    ABX|= 50°

4) C, C € BX ∩ k

5) ∆ ABC
Skúška správnosti:
2)       Zápis:                            Náčrt:                                Konštrukcia:
      ∆ ABC

      c = 6 cm

      Vc = 8 cm

      α = 75°

Postup konštrukcie: 
1) |AB| = 6 cm

2)    BAX, |    BAX|= 75°

3) m, m װ AB, |m, AB| = 8 cm

4)
C, C € AX ∩ m

5) ∆ ABC

Skúška správnosti:

3)       Zápis:                            Náčrt:                                Konštrukcia:
      ∆ ABC

     c = 5 cm

     α = 70°

     β = 55°

Postup konštrukcie: 
1)  |AB| = 5 cm

2)    BAX, |    BAX|= 70°

3)    ABY, |    ABY|= 55°
4)    C, C € BY ∩ AX
      5)   ∆ ABC

     Skúška správnosti: 
4)       Zápis:                            Náčrt:                                Konštrukcia:
      ∆ ABC

     c = 7 cm

     Vc = 4 cm

     b = 5 cm

Postup konštrukcie: 
1)  |AB| = 7 cm

2)    k, k (A,5 cm)

3)  m, m װ AB, |m, AB| = 4 cm

4)    C, C € m ∩ k

      5)   ∆ ABC

      Skúška správnosti: 
